S (R | 1B mE (b5 475 ) — (1) 5 ERBESE{f
(BT FE )
| tEEEEE | (AR B I BEEH
MEERTFEE | iR A GAE  Ofas ()
£F13 EEOKR S
D EBOERER GFAE (471055 79
FRTOEAT [O) S

@ HEROFIRIRR
7 FIRHERE

HEFAES () FIREHGSE () =51 () —) ERE )/ 0)
359,200 A 1 55,315 A A2 77 3,885 A 39. 1%

¥ ORTEEESERE 25 1,195 A (BEEERA27.7%)

A FI R AE SR & D Stk
(7)  &FE_Ems 0B
a  LAVEMCEEEE S TIE, 19301940 D FHEE B4 5 B AW E s PR, %
D F i
b AMERRE T, Ty SBR[ R 2 D S
c NUTT7Y—BEO LSS ERTT X —) LORrd 5 BB m o3
d WMVRKEMHLEE L [ZEOMES) CHELMToT7T=2A—va a2 kL
M2 T2 ESHETT T #—] SO+ &8 mid EuE o 5
e EHEROEN
() SO FE
T— va v 7R, iz RO T EBYERIZOWTOMIREIT) (AT 4T VI F
¥ —] OENE
() JRHOFHE
F T L DEA ., R— b= D~ DY

Q@ FIREBEDEREE

Ry it /& AT ,
T MR T oome | oo Am | ) g
67. 7% 14. 0% 1.8% 0% o
104 £ 81. 7% 1.8% 16.5%
(%) BEEEHZEONTIKT ($HIEE)
% 4> 2 () L () WE?%»
XA (a) 1{& 110 55 TH 9,839 HH A271 55 FH
s EE 9,013 & 1 TH 9,013 & 1 TH 0 FH
)R B 586 5 1 T-H 250 75 7 T-H A335 5 4 FH
Z Dt 511 75 3 M 575 75 2 T 63 J7 9 T
| RiAE 4 511 /7 3 T 575 /7 2 T 63 17 9 T
= (b) 1{& 110 55 TH 8,983 5 A1,127 55 TH
| B LEE B 1{&110 55 FH 8,983 /7 [ A1,127 75 5 FH
75| (a) — (b) 0 +H 856 7 H 856 7
| RAE P i 0 TH 856 15 [ 856 J5 [

B = v J 0 A )b A REGERERGE R 1IZ K0 BRIHAREE & L7z 7o o, FIREHE ORI L 72~ 7z,




